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Anti-Derivative Test Score 9

Part I: Multiple choice (20 minutes) — Circle correct answer.
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2. Which of the following statements are false?
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Which of the following is the slope field that has the solution y
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5.
dy
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Which of the following is the solution to the differential equation
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Which of the following differential equations best matches this slope field?
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8. For [ si, the correct u-substitution is

)
@
)

u = sinx
U =COSX

either y =sinx or u =cosx

d)  neither u = sinx nor u =cosx
9. A particle moves along the x-axis with velocity at any time ¢ given as
v(t) = sin2z. If the particle’s initial position is 0 when ¢ = 0, what is the position
function?
‘ J
PZ{ x(#) =2cos2t \YS ~2¢ dt = ng"“'w CZA&)
}L‘ x(t) = —2cos2t +2 O
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x(2) = EcosZt

1 1
x(1) = - ECOSZt + E
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Part II: Free Response (35 minutes) — Show all work.
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2. The acceleration of a particle is described by a(z) = 18¢3. Find the distance
equation for x(¢) if v(0) = — 1 and x(0) =1.

V(&z thg% t =
= 3 é:es#éb‘(ﬁ
- éS 9‘44\4
-z Lttt >Gc;56+C‘

- o ©
(o -\=> t; ‘:%c: +C,

| -3 =C
% Vlnz bet - T ‘
x (£ = 3@&%(’?’3‘15
> 2]&S6d0 +JY°?3J6
- >t
< 2= —?“(Sﬂ-c?_ ()10% [ = 2"2’0_0*02
—|:¢L

XL = 27 e |




5 1 1 N x )d
. +
f (9+x)2  9+x2  9+x? *

Qo<
duzde

:S éi:;g, Clx ;t_jq:t_;&»

- -3 o Y
= s Ty —
\S L T'} 2

_— )
:SV\' “ +_:£1’n~ 3

-\

W

.= 3
. —\ |4 T
= 4 4 TaS =

- 3 3

1 AT
) qest
e ,\., _‘Li., d £«
\
-t s
\



dw
4, Given the differential equation, —— = w(1-28).

dt
dw
a. On the axis system provided, sketch the slope field for the —dT at all points
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b) Find the particular solution w = f(¢) that passes through (0, 2).

plotted on the graph.
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